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Project Key (App Kewy) | TXxA89ce TECTDA1LASA2Z2999T1I2 T FOacCcTITEC
Secraet Key Gl18d518dd4f42b39a20eb0cif51 14587
PSS Ay 1P allowvweaed
Hlol = =24 JISOMN + XML
End Point http:/fapi.data.go.krfopenapi/tn_pubr_prkplce_info_api
API St = APl === =70 MaF 2=SFI7F MEBE= wWalo] Ch= == E;Hu CF.
= 2| Hl=5E= Encoding/Decoding = CIS7FIE&E HESIHAM 7+ 55= FlE AFESHEAIZ] HE= L CF,
2= =0l O st 3828 AlSSH?] ol ==z S U C
= 217 WS hgnXKAFKIUS%62FIGGEMNOPck3IWOSSbdITSLDf2 bEESwxawe N ISKACup 2% 2BePW)G 21296 2F31SeZ T ZD 2)wvwniG L3S 2 F262FZ9F
(Encoding) wrZhIODSEI0D

WG hgnXAFKUS AGGEMNOPck3IWOSShbdITSLD2 bEESwxwe M SKACup+ePWjG2]j2/3]SeZIMTZD 2jywnGLAZIFuw = =
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<string name >WEhgnX4FKUS%2FTGG6NOPcKk3WOB5bdLTSLDT2bEESWXwWeM JSK4Cup%2BePV]j62j]2%2F3jSeZUtTZD2jyvnGL%2F%2FZ9Fuwi3D%3D</string>
<5tring name >17xx48%9ee78c7b4145d2999T12770ac7?TT8c</string>

+ getString(R.string.open_apl_Kkey)

urL += .page
urL += + ITEM_PAGE_SI/E

Log.d(TAG + url)
Reguest reguest = Reguest.Bulilder()

.urLfurli)
.build()

1 #ot= 0B =%




<string name >WEhgnX4FKUS%2F T666N0Pck3IWO85bd1LT5LDT2bEESWXxWeM ) SK4Cup%2BePVj62]j2%2F3)SeZUtTZD2jyvnGL%2F%2FZ9Fuw%3D%30</string>
<string name >17xx489ee78c7b414502999T12770ac7TT8c</string>

LinearLayo

_tMapvi

-tMapvView.setSKTMapApiKey (g
' _tMapvi

g B2 Key 2 2 2 TMapView 2N & ‘44510
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onLocationChanged(Location location) {
(TAG - + location.getlLatitude() + location.getLongitude())

_.-I.-I._

.Location = location

.tMapView.setCenterPolnt( .Location.getlLongitude() .location.getLatitude()

.tMapView.removeMarkerItem( )
createMarker( .Llocation.getlLatitudel() .location.getlLongitude()

O =c|70]F0] Wi HX| &= diol7] fiet A& &S




ap7 &g
TMapMarkerItem createMarker( Latitude Longitude, String id, String

String title, S5tring suvbTitle iconRes) {
TMHapMarkerItem markerItem = TMapMarkerItem()
TMapPolint mapPolint = TMapPoint(latitvde, longitvde)
markerI

markerItem.setCalloutTitle(t1itle)
markerItem.setCallouvtSubTitlel(subTitle)

Bitmap v .decodeResource(getResovurces( ) iconRes)

OHOj| & 7| | = Marker A1/ Bl Marker Animation 7| 8B &




TindviewById(R.

. Location ==

: n -I__ en 1__ anm -I__ = -I__ — r.'| - 'I_— 1ONs -I_ I:I anr I"- in I___. L 0O :'_. = oo e .-|.
i1ntent. putExtral .Llocation.getLatitude())
1 N -I__ 2 n 1__ - I:::' Ll -I__ E x -I__ = :__ - -I_ 0O a 1__ 10N . |; = 'I__ L on |:'__: i -I_— ude :.- I I

Sl b e L r.launch(intent)




blobalVariable.parkingLotItems.addALL(data.response.body.1tems.1tem)

download =

(GlLobalVariable.parkingLotItems != ) 4
(GlLobalVariable.parkingLotItems.si1ze ()
download =

A ol 2|0 0lot7| #iet i E




save(ParkingLot lot) {
SQLiteDatabase db = DBHelper.getInstance( ) .getReadableDatabase()

{

string sql = + Constants.DataBaseTableName.HISTORY +

Object[] args = { lot.parkinglLotNo, lot.parkingLotName, lot.latitude, lot.longitude, System.currentTimeMillis() }
db.execSQL(sql, args)

(SQLException 1gnored) {

Toast.makeText( R.string.msg_error, Toast.LENGTH_SHORT).show()

H

db.close()

HM L 2 sqLite DBOJ| X ZHEILCE




addBookmark( )
SQLiteDatabase db = DBHelper.getInstance(
count =

+ Constants.DataBaseTableName.BOOKMARK +
.parkingLot.parkingLotNo }
db.rawQuery(sql E“g;J
sor.moveToFirst()) {
sor.getLong(e)

sqliteS 0| 23810] ZH%7| S 18




onstants.DataBaseTableName . BOOKMARK

ot.parkingLotNo -parkinglLot.parkingLotName

Toast.LENGTH_SHORT) .show()

Toast.LENGTH_SHORT) .show()

sqliteS 0| 23810] ZH%7| S 18
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